MODEL SET-3

Group-A History (3fasr) 3k (Marks): 20
FrfoRad sgfamadia ol 5 4 98 fdbed g —

Choose the most appropriate options in the following multiple choice questions .

1. MR Gfag § fear war 73 9 Sfou Fenes feww gefag 87 1

@) =Y (@) T |
SONRCICCIEC I CIERMICIEIEE
73rd amendment in Indian constitution is retated to -
(a) Centre (b) State
(c) Panchayti raj (d) Non of these
2. gR<M T &I e fe 9y g8 ? 1

() 1910 (M) 1906 Ty 1907 (&) 1905
When did Muslim League formed ?
(a) 1910 (b) 1906 (c) 1907 (d) 1905

Wl TRl ¥ R I @ gfd & —

Fill in the blank with appropriate word :-

3. 1904—05 & HH—SMIT & H oo, DI IRISIT TR | 1
---------------- was defeatedin the war of 1904-05

4. A TR TAD 3R oo GIRT BIHDA AT RIS DI YD [HAT
war | 1

Home Rule League movement war started by Bal Gangadhar Tilak and -------------
¥ geAl &1 IR 60 Tl H T |

Answer the following questions in 60 words .

5. WAIE W Uoh fewoh ford | 3
Write a short note on ‘Satyagraha’.

6. IIT H ARG & GG H IR &1 AP BT qui B | 3
Describe the role of Napoleon in the development of Nationalism in Europe.

7. FHSATHIUT H IERIEI HUlRI &l ADT B WE N | 3

State the role of Multi National companies in globalization.
=1 Tl BT IR 120 T H © ¢
Answer the following questions in 120 words.

8. ee—d19 # Wgare & A &1 avfe &Y | 7

aferar
TARTST OS] ! AT0AT Ud Sgaed &f faaasm & |
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STINHTEl gide™ (HISTORY)

61. (1) TATI T |

62. () 1906

63. T

64. Tl IUC

65. GIRIE &1 €39 g 3R AT wr menRa €| wrefieh &1 AF=r o &
Py S O 9 ¥ URT 3R g & fOwg 81, 9 uiftg & fou
ANIRG I DI AIIDAT el TSl | Ueb Aearrel fa=r fhedl feaes fohar
@ G 3R AT & Bl W AP Bl WG B Fbhal © | TSI B
AR FAIE Gacll DI T8l qdall BT EAIR 2 |

66. U = 3191 JMHHAVN H Scoll 3R THAT & ISl | AT &l qTa=T
P ST AT | TAfelas & 3MHAT W AT 3R oY A0 &l &
Ude H T MY AW I MU Uhdl B WaHT BT b g3l | STl
THIBIUT & AN OR Fel U7 | AuIferdd 1 SHAT @ 300 ¥ 21fdd Waa Iedi
BT AT B AT 39 X[SA] BT GG FHAIBR SHAT DI o dT § IEgdArg B
AIGAT BT ST b |

67. YHSIHRY & UATd B fAbfid o3 4 fdgg d&, JIRisiia ga1 oIy, fagg
MR Hi7eq AR efyd e & g dufal &1 3gd dred 2 |
fafer= IR wufel o I, dF1, wded, gEer IR HeUR &l Hodi¥as
TR R Yoil a3 BR rdi AT Bl ISR IYTe BRI © |

68.2041 Hdl & A(RY H fee—d # Wgdrg &1 9GAT Bl fdbrd URA gl |
1904—05 30 H UH URMIE < WU §RMT ®F & Wi fb oIH 9
fera—dI & N H 3McHael BT IR gl | w4l 3R AvewEy & faarl |
A AT BT gATfad o |

fee—d @ df=g ural § % dRE-—99 8 Ue w9 9 BN
TN @ 3ENT o7 | AU¥ IR qodl difchd, 3™, HHIsar 3R R H
qRTA- SERRIT BRH & | U [aga-rd gas 8 9 g & 9@ § g9Ri
qagas Rell g b gRI Bl 1 DI Al o ol | HRiEra
faameRT & ywifad & @ g =1 1930 S0 ¥ fAgaa™ AwIard) < &I e
f&ar| 1930 20 & fde #dl = Igare & et & anreE |
3rerar
HETHT T §RT 3RAZINT 3M_IdA- & a9« | ARG H "R =R

o1 g Uar g3 | vl Rerfa 9 1922 g0 # wan aferge ¥ fyais= < vd
AT AT FE® A AU uRue & afR ®R9 Ud 9ed & 376X AXBR ®f
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It &7 faRe e &1 URTd @7 | 98 UNKd TR S8l 81 9T | PR |
SWIBT TdR 1923 30 H FIORST &Y U4 Al ol "8 o WRIel rél &l
RATUAT P |

WRIST Uiel & Savd o WRIeg & Uif|, S gRr et
TRON IR &I T, 1919 30 & JRIH # awysd Gur | ¥eq H
RIS G & AdRll gRT WHRI Il &1 Ry YRl &l rcAfdears |
Y T o7 |

Group-B Geography (*31id1) 3k (Marks): 20

fAeifhd agfdeedia us=i 4 9 98l fAdoy g+ —

Choose the most appropriate options in the following multiple choice questions .

9. Fr=ifrad # &1 wgfae e 98 8 2 1

(@ T (@) e
@M AR CIREIRE]
Which of the following is not a natural resource ?
(a) Forest (b) Rivers
() Town (d) Mineral

10. T8 DI I AEFH A9 ofF T & 7 1
(®) NH-7 (E) NH-1
)  NH-5 () NH-2
Which of the following is the longest National Highway ?
(a) NH-7 (b) NH-1
(c) NH-5 (d) NH-2

11. 981 ¥l | Rad WAl &1 g &

Fill in the blanks with appropriate words :

(i) DT IRATY fAZT T8 oo g H Rerd 2 1
Kaiga Nuclear Power plant is situated in the state of --------------

(i) DU DT A B T FIH SOGHT oo T % | 1
-------------- siol is the most suitable soil for cotton cultivation.

12. f979 U997 &1 SR 60 WeRT H T 3

Answer the following questions in 60 words .
TETSl T d1 e #at v uRagd ArEl & ifdd fawr 81 3=
HROT AT Y $9 DA DI WL BN |

There is more dense network of transportation in plain areas in comparison to
mountainous areas. Give three reasons in support of this statement.

13.f=1 U9 &7 IR 60 <l H < 3
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14.

15.

Answer the following questions in 60 words .

Tl JENT MR 9RI I F 37T a7 F93d & 7

What do you mean by light weight industry and heavy industry ?

=1 ge &1 IR 60 Tl H < 3
Answer the following questions in 60 words .

IR § BY & o Sucter fb=gl o9 WrMfers faenai o1 qui o |
Describe any three geographical conditions which are suitable for agriculture in India.
T U9 & IR 120 Tkl H < - 7
Answer the following questions in 120 words .

qIRT § Sdle WSl dal—war uig Wdl & 2 30 e &1 fa9van aari |

What are the areas of alluvial soil in India ? Mention the important features of this soil.

ST
N S GR 9Rd BT U HrE g1gy a2 F=fefiad o sraifed & 9
3ifha H‘ﬁﬁﬂ'ﬁf:—
() I T e
(@) TP PIIAT SUEH &
() TRTGR TR e
(&) MeETeR) dar
(§) SMaaR

Drow the outline map of India on full page and mark the following by shading:-
(k) Kanha National Park

(1) An area of coal extraction

(m)Tarapur Nuclear Power Plant

(n) Godavari river

(0) Amritsar.

3T
had s BET & g
Only for blind candidates :-

g SR BT GBI Y qAT ST fIereary aar |

Present the classification of vion are and explain the features of each type.
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SAYHTAT (Answer)

1. (i) BT gAY fIgd ' FHfed T H Rerd B
(i) UM Bl Wil B U e SuYerd Plcil qaT 2 |

=l

72. UBTS! |IT @1 3Uer HerHl 9l # uRagd ArEl & ffs R 8+ &
forRad R 8 —

(i) FFae &3 § gRass ArE B AT BRAT I 81T & |

(ii) &7 @4

(i) 4T &= H WEd S o S eniefe fhareead 89 @& BROT |l
I8! gRagT ARl B Ifd AR gar g |

73.8c® a7 € RN g o AT &1 YA BT & 9 GIR AT Al
8o BId 2 | S—sodei=e Suavl, Rers #3iq anfe |
INT ST # R &ed AT BT YA BT & 9o A Sarg | 9y g
g | SI—g-gwTd Se 3anfe

74.9Rd ¥ B & forg Sueter 9 Aimifers gfaamd f=feRead g —

(i) SuTs fer

(i) g STt <=

(iii)eTJehel STeTdTy

75. R | STdlie gl & &7 f=feilRa § —

(i) OSTTT | 3 db Bl HRd &I gad Hal

(ii) 7T U | T IR AT @ =fedt

(iii) e gQeT TAT JNFSYT § HEMGT Bl et

(iv)de H AFRAC

(v) HBTET, TRTER], B, BRI, T—TFAYS BT Soal |

9 g1 @ favman f=falad € —

(i) Steire frel &1 T8 drel, Riee vd gfter & A= oud 9 2iar 2|

(i) d BBl IUSTSH HaT § dAT T, A1ddl, g, DI, qoled Wbl BHdAl &
forg Sugad A STl 2 |
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Group-C Political Science (RTSTiIfcr fa=sim)
3h (Marks): 17

ifea agfdmedra uedl # 9 |l fAded T+ |

Choose the most appropriate options in the following multiple choice questions .

16. AT & IABR A<l B YHIMTT b 5T H gg ? 1
(@) ISRAIE (T) 99 A
@ [@ErRA (H) HERT &
From which state the movement of Right to information is started ?
(a) Rajasthan (b) Punjab
(©) Bihar (d) maharashtra
17. IEOI FHTGT UTET & HRATIH bI= o ? 1
(@) oy Rig (@) BrERm
SUIRCE SN () 1B e
Who was the founder of B.S.P. ?
(a) Rajnath Singh (b) Kanshiram
(c) Ambedkar (d) Rahul Gandhi

=T Tedl &1 IR 20 eaT H § -
Answer the following questions in 20 words .
18. 91 BTUMRY | MY FIT AAS & 7 2
What do you understand by Booth-capturing ?
=1 Ul &1 IR 60 W@ H G
Answer the following questions in 60 words .
19. a1 & HAfTDHR AT<led R T fewoly fored 3
Write a note on the movement of Right to Information.
20. HETHS TR LT THhdT H dY TSP © 2
How is the federal system assist the role in national integrity ?
=1 Uel &1 IR 100 Wl H G
Answer the following questions in 100 words .

21. ITH B8 & TS UG BrAT Bl guid o | 7

Describe the formation and functions of Gram Kachahri.
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SAYHTAT (Answer)

76. () oI

77. (@) BIRME

78.Is IHIGAR YT Siid GHARET B & foly ddd & dof W g BIUERI
BT BRI AT 2| 98 AU FHADB & HEgH I AGIE A o™ b
T BT 2 |

79. 3HD] YA 1990 $0 H VR ¥ 8% | A~ WRpR) draf d AqofgRl 3l
&1 SIFATell ASTgRl T HIASli~dh B HI AN DI TS | AXBN SRIAS Bl
M gad @M ¥ SR B QT O[T o7 Bad: Swias &l
Adels R b folU s=_lel URH 8 AT| §9 3Rl b Gal &l
AMTFR 3M_ler A AT TAT| 3fda: IoRAE WRGR - W9 2000 30 H
AT BT IATBR Gl B G147 | 2005 50 H Bvst AXBR o 9 G 6
JMYPR FHIA Ut o |

80. MR e # wIRd &I (8l BT HI' HE T 8| TS THal Bl
Aol @ foly &g B wfaaenel ey &1 1 8| &s IR 59 & 4"
chIg I o & oIy B o), oG g U9 FAd< Al & fdqiid afddar
1 fauro Tt wU ¥ &Y fear war g1 b 3R Al & &9 Geld 9 1Y
Gq @ U Fatea =Ty & gaie AfPaR fou v € |

81. [9gR # Ul o7 AIfRITH, 2006 @ STTAR UH HAEl BT TS HX Bl
UTIHTE © | $9hT TS+ ycuel fRafad grT fhar War € s9e siavid Ud
fafee wrda ok fRed wem # fafed 4a 8 €1 T 99 T 500
JMETET B Ul #Ram © 1 UMW FEed H W Igfa ofd, g
S, fUser v, e fUssr aFf Ud Afgamsil & o7y JReror &1 urae=
2 | SHBT Brdhlel Ure 99 T Bl 2 |
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Group-D Economics (3refemen)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

22, YRT H AIGTT AN BT T3 e T ? 1
(®) 15 ATd, 1950 () 15 A, 1950
(M 15 AT, 1950 (1) 15 FdwR, 1951
When did the Planning commission established in India ?
(a) 15 March, 1950 (b) 15 May, 1950
(c) 15 Aug, 1950 (d) 15 Nov, 1951
23, IR ERANTT I Ya™ & drell Fad AU qeE ¢ 1
(F) AEGARD 96 (@) G
@M  HWEBRI 9B @ >R
Which is the most popular non institutional finance providing loans ?
(a) Commercial Banks (b) Mahajans
(c) Co-operative Banks (d) Businessman

=T U &7 IR 20 9=l H < |
Answer the following questions in 20 words .
24, qETAT fhd HEd & ? 2
What is outsourcing ?
=1 U &7 IR 60 ¥Rl H < |

Answer the following questions in 60 words .

25. Ufd fad 1 T 8 7 3
What is per Capita Income ?
26. fa<iia HwITH | MY 9T §ASKT © 7 3

What do you mean by financial Instilutions ?
=T U &7 IR 120 W@l H T |
Answer the following questions in 120 words .

27. JIQHROT & I BT Ui &N | 7

Describe the components of globalization.

T
ST P DIT—hIT ARHER & ? I By |

What are the different rights of a consumer. Describe it.
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SAYHTAT (Answer)

82. (®) 15 #T1d, 1950

83. (@) AgTo+

84. 519 GG HHAN 30+l Hefdd Faffd Hai ool el & WIE W
fpefl = ar faeeh e ¥ urd oxell B U1 el @l srgasEi
PEd © |

85. XY MY H QU B Pl ST ¥ WFT o W Sl A% AT & I9
ol @afdd g wEd € |

gfe fdd Mg = A M

<Y B Hel TAAET]

g6. foxfra wvemy Qo1 Qterar vy @ VAl WRemelt @ ®wEd €, S aArl @l
IMITTHATS BT X HX B 9 UG G&T Gl i &1 Frre dehl 2 |
J HRIU BN, IR, AR S 3fde Sl & ol sfeudielle, Hegdbel
3R <T@Telle A 31ET F0T @ giawr v el 2

87. JediaR & Ui geg HfaRad o T § —

() g 3R @WUR Haell EREl @ HHI— AR JAREDI Bl HH HIAT
qrfeh avqatl Ug Am3Hl BT A I JfC—UaH 8 b | g6 AWMU I8
BT o fdae SHaf-dl R iR § U1 a¥dU g Wi o w9 9 99
Taar & R i gBR AR HEfR fade # oo axgi ud WA 99
|l ¢ |

(ii) Yol 1 fHaier yarg— VAT araraRer &d w1 o faf=t gen | 4o &
Uaie wWad wU 9 8 W | g9e e g7 gor fo faqel doiufe wra |
T o Adhd § IR IR Tohufy fagen § e w7 ¥ed §

(iii)dTenfrer a1 de-ife &1 ey uae— U IR SRE S fh e fed
Ufee & U <9 O <9 ¥ UEiie] a1 d@-ie AT R 9ad & |

(iv)s @1 ety gare— VT ardERer g9 6 [t <o # sm e fed
I B 3M—I HD |

(v) Goft &1 gof uRexiefieia— ool @ qoi uRe<iasiiciar « 9ediearor &1
MITTE AT 7 |

AT
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IOHTGIT HRETOT JMAIH BT IRT 6 & 3T IuATGaT bl FferRad
GT@WW%QTFQ%:—

(i) gReT T SfSBR— IUHIGAT DI UH I&3ll iR Hamell | FRem Ui &Y &l
IfPR & R 99 IR a1 FwRT &1 &1 8 Fa 2 |

(i) AT U BT SMABR— SUATGAT DI I Tl ALIH AN W U I Bl
FTPR 21 Rrgd AER W) 98 geqy a1 Jag w¥ed 1 [l H Fahd
g |

(i) AT BT BT ARTHR— IgdGd A= s, [HE, w0, 01, [, ATHR
TAT o BT a&gali # fHl W a%g BT A1 A BT @A g |

(iv)gTare BT IATBR— IYATHIT Bl 30+ &l BT J91fdd &R arell a1 qral
B SRFT Hal B AT TG DA BT ATBR T |

(v) &fagfct @1 sifdeR— 59 R & i Wil Ts 9% a1 HdT IfAT
& el el a1 ST SUD Gl JalTaslT & ST |

(vi)SuwTaT fRrem &1 SfderR— Iudadr fHdl o & Hou, SHd! SUANICT,
PIfe TAT FAT B TGN T ARTHRT S aid 3l & o Jremw |
Rrféra Sudad graTTsl W §99 @ folv Wd 99d 8 9ahd © | 39 UBR
STHRTT DI HY AHR QY Ty & 9T 98 o/ T WRI8d Asqd
P |

Group-E Disaster Management (39T <€)
3T% (Marks): 06

fr=ifra agfieeda el § ¥ |8l Racy g+ |

Choose the most appropriate options in the following multiple choice questions .

28. T ¥ UHR & 3MUaT & 7 1
(®) UTbidd 3MUeT (@) A YT
@) T SISl @ T F BIg T8 |
Drought is which type of disaster ?
(a) Natural disaster (b) Manmade disaster
(c) General disaster (d) None of these.
29, frfalRaa o= wgfas muer € 2 1
(F) AT T (@) 9 fawhre
@ HY ()  RHE geHe
Which of the following is a Natural disaster ?
(a) Catch Fire (b) Bomb-blast
() Earthquake (d) Chemical disaster
30. =1 Uo7 &1 STR 60 VGl H | 4
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Answer the following questions in 60 words .
gErs ¥ g9 & D] BT Ieold o |

Describe the remadies applicable in draught condition.

SAHATAT (Answer)

88. () UTdpfde 3MMU<]

89. () =

90. gET$ Ol UGl & Udgs ©Bg & UDR Pl ASHN JMaWdH B, oA
g—arHdleld R gDl AN | STl Ao & Jdia—ey,
qTerd, HRif, UgH, MR & fAHTH P SToxd & | Te% & Aregd d ool o
STl AT ST Fehdl 2 | Uolld 3R BRI § 83 &1 STl [dura) 8 gare
B AT BT AR FHEE far T 7
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